PRIMITIVES/EXERCICES _

Primitives niveau terminale - 7€ feuille

e / dx
xvVa?+4
B:/ dy
Y2yt — 7
O / dx
3?2 —9
D = / rsinxdr
E = / Inzdx
o / ud;t
cos?u
G = /:L‘sinQBxdx
H = / zatdx
I = /arcsmmdx
J = / arctanxdx
K = / arccos2xdx
L= / zarctanzdx

Cliquez pour toutes les réponses.
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Réponse 7
1 T
A==In +C,CeR
2 2—1—\/:62—1—4‘
Vy =T
B=-—+4+C,CeR
7y
2—-9 1 x
C:W+5—4arcsec§+C,CER
D = sinx — xcosx + C,C' € R
E=z(nlz|-1)+C,C €R
F = utanu + In|cosu| + C,C € R
1 1 1
G:Zx2—ﬁx5in6x—icos6x+C,C€R
x 1
H=d"(——-—)+C,CeR
a(lna lnza)+ & €
I = zarcsine ++v1—224+C,C e R
1
J:a:arctanx—§ln‘1+a:2’—|—C’,C’€IR
1
K = zarccos2x — 5\/1 — 422+ C,C e R
2
1
L=12 il arctanx—g—I—C,CER
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